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RZUT PARTERU

POWIERZCHNIA PARTERU
1 Salon z aneksem kuchennym 27,06|m’
2 |Konytarz 499|m?
3 |we 2,56|m’
4 |Wiatrolap 3,95|m’
5 |Schody 2,56|m’
6 |Garaz 1372|m’

PARTERRAZEM:  54,84|n'




265 287

12.36 m? 11.37 m?
1 |pokej 2 |pokoj

< > Budynki
2 K o
numerach
porzadkowych:
174,
17C,
17E,
17G,
D 17K,
A0 L o 19a,
< O 19C,
537 m? 8 D 1 9 E ,
A/ 3 |tazienka O 19G
o B \
S 56, 17 (270 )
X
=2
oD I 6.29 m?
: I 6 korytarz
Py —
7o
7 gdy |
11.50 m?
L 4 |pokdj 8
\ &
o 3.95 m?
S 5 |schowek i
282 270
POWIERZCHNIA PIETRA
1 |Poksi 12.36|m”
2 |Pokéi 1137|m’
3 |tazienka 537 |m’
4 |Poksj 11,50|m?
RZUT PIETRA =
6 Korytarz 6,29[m
7 |Schody 2.56|m?
PIETRO RAZEM: _ 53.40|m
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